dla o= ® ation App

MATHS

BOOKS - SURA MATHS (TAMIL)

Model Paper 1

4= ]2 ®] b-adjawmmidc - 3aaesfen, 251
1
A —
3
1
B. —
9
c 1
4



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TJMTYKib74EL

Answer:

o Watch Video Solution

3

2. — n 61651 S6VL16) LI6suT6usfl 68T (LD G)6tT6mLD 611 & &

Answer:

° Watch Video Solution

3.2° + 2z + 36TED)ILD LIVeY|MILILI&HCHTEm6USH(S)


https://dl.doubtnut.com/l/_TJMTYKib74EL
https://dl.doubtnut.com/l/_DD5HWplOQHht
https://dl.doubtnut.com/l/_IUMOIplqQpAF

A (I GE) HmIb Q@ 6lLoUI6l WiesoT
Lh&EIWLDMEE &6 Q(H&(GLD

B.@(H Wems MHMID Q(H 6lWwmm &HeVLi6lLiesor
Lh A WILDMSHSH SH6ET Q) (H&(SLD

C. e65TM)| CILOWIEIWI6TDT L SHWLDTSHE 86T @ (H&H(GLD

D. Lh&FEIWILDM& S 56T Q6V6eme6y

Answer:

° Watch Video Solution

4. f(z) =sin~ ' /z — 1 61601 euUEBTWMISGSHILIBLD FmiyLilest

SFMLU&LD

A. [1,2]

B. [-1,1]


https://dl.doubtnut.com/l/_IUMOIplqQpAF
https://dl.doubtnut.com/l/_bIXZP9fd81Qm

C.[0,1]

D. [-1,0]

Answer:

o Watch Video Solution

5. 2 +y=Fk ereorm Chi&HCan(B Ugeuemenwd y? = 12z-
Q661 6lamICHT(HE SLOEOILIMLTE 2 6T6Mg| eT6vilev k-6o1

D& LIL

A3

C.1

D.9


https://dl.doubtnut.com/l/_bIXZP9fd81Qm
https://dl.doubtnut.com/l/_AgnDA9LMpnC7

Answer:

° Watch Video Solution

6. i+ J,1+2],i+]+7k eletim GleubLjsemeT &
Leteulley  shal&d@  ellefbysennad  6lamesor

D) 6016001518, 8 650TLDE,8) 65T SH60T S161T6Y

w3y o3

N
)

o
SN

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_AgnDA9LMpnC7
https://dl.doubtnut.com/l/_upZsldlwKTmo
https://dl.doubtnut.com/l/_U3F2NYys86x7

7. i4+7,1+2],i+j+nk eledim) GleusbLIHEMET 6 (h
LeTeflulley  shal&@  eleflbygsennsd  6lemesor

B 60)600151]8) &) 600TL0E,E) 66T &H6TT S16TM6)Y

w3y oy

o
N

Answer:

o Watch Video Solution

8.sin?  + cos* z e166TM) FMTL QMriiG LD QevL_Glauer

A57T37T
| 87 4



https://dl.doubtnut.com/l/_U3F2NYys86x7
https://dl.doubtnut.com/l/_1FZD6ocFmPyD

Phl:] |M|>]|
|

w)
L
NG I
| I

Answer:

° Watch Video Solution

9.y = az* + bz?, ab > 0 6165TM) GUEDETEUENI]

A. SlenL oL L g, 615M(HGaM(h 6lLmeaileuemey
B. GLOMHLIMLOMS, (HLO16Y

C. SLpUMLONS (HLol6Y

D. 6uemertey LoMMMILI LlefTerilemwl 6lLImeileuenev

Answer:



https://dl.doubtnut.com/l/_1FZD6ocFmPyD
https://dl.doubtnut.com/l/_ftLCdGtrelhG

| o Watch Video Solution

10.u(z — 3)° aresilér, 22 + 2% Ges &L
ox oy

Al

C.0

D.2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ftLCdGtrelhG
https://dl.doubtnut.com/l/_KnvGKLKCEBHP
https://dl.doubtnut.com/l/_3RwuRwqX1WrG

Answer:

° Watch Video Solution

12 > =z(a—2z) e6dTm) euem6TEUmTUNGY 6L LI(HLD
AR BGG)65T LlenL X-HFEO &L elLIMMI58]

GLOMHMI6UGTEV 2 (THeUMGLD &L LI6ILIT(H 6 65T SH60T 66


https://dl.doubtnut.com/l/_3RwuRwqX1WrG
https://dl.doubtnut.com/l/_A37jMPZvPMGs

Answer:

° Watch Video Solution

4 d2 % d2
13. [d—i + —Z] = a—gsrsb‘r_rg 6UEDBHEH618 (LD
dx dx

FLO6STUIML Lq60T euiflennd LoMmILD Lilg (LpemmEul m, n eTé6sil6y,
4m-n Q66T LOZLILY

A. 15

B. 12

C.14

D.13

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_A37jMPZvPMGs
https://dl.doubtnut.com/l/_89aq0LAD6Hc0

14. Uetteu@pd Grilwev goestUm(B&eT  615M(&LienL
S\ Lo eor aflg) Clanesor(h 81155,

2r —y=3,z+2y= —1

o Watch Video Solution

5. z5,z2 LOMID 23 SHHW  SHeVLILI6OTRISENT
|21 = [2a] = |23] = |21 + 22 + 23] = 1 eT60TMEU M) |

11 1. S
QHHHTev | — + — + —| Q60T G LI6DLIS SHTE50TS
21 z2 <3

o Watch Video Solution

16. (pemest (-1,2) y-S18G:5HG Qemesor LOMHMID (3,6)

6ULOI&61F6V6Y LD LI6UEDI6ITULS S 65T SLO6GTLIM( &IT63015.

° Watch Video Solution



https://dl.doubtnut.com/l/_eETnxtg24GpF
https://dl.doubtnut.com/l/_KMYuuNG7ttNr
https://dl.doubtnut.com/l/_bTYrOPuX5Krd

17.G, b, ¢ 61651 CLPEBIM]| S16V(& CleudL 66 b, ¢ eT6dTLIEHT
QENETTT  SIGVEVME GleUSBLITHET LOMHMILD, ’d(f) : é) = %B
eT6oflev, @ LOMMILD ¢ 6165TM GlEUSL[[E(EHSHE QML LILIL L

C&M6vOILD &MTETOTS.

o Watch Video Solution

18. x hem(Lp&ier (LOL_L_lev) ep(h GlLoeuellw Gamedlest Hlemm
m(x) (B Ceunalgmslev), m(x)= V3z 616015
6anB&sLLL(BeTeng| ereofley, x = 3 LMMILD x=27 LBLLI]
eenIld  Cumgl Hendemsll UMmISHSH Hemmuiesr

LU @ aiygems smesors.

° Watch Video Solution



https://dl.doubtnut.com/l/_bTYrOPuX5Krd
https://dl.doubtnut.com/l/_BUx3nUwOUkJC
https://dl.doubtnut.com/l/_k7SkIKifwNZY

19. LDQ)‘]I;II_ﬂCBH:./ e “z"dr,a >0
0

° Watch Video Solution

77

20.y:aw+§,w7é06ra'5ru@_|wy +zy’ —y =0 eren)|lD

EUEDBHEH6) (LD F FLOESTLIML_LG65T STEUMGLD 616018 &ML (H &.

° Watch Video Solution

e ™ >0

2. f(z) = {0

6160) LD HHLDHHE SiL[[§HG) FTIL| 266 6(Th FLoeUMUILIL]

oMM X-&(& FM&fl LMHMILD LIFeUMLILG SHIT650T5.

° Watch Video Solution



https://dl.doubtnut.com/l/_gf5SR8RdoXPE
https://dl.doubtnut.com/l/_pEGN5baPiub1
https://dl.doubtnut.com/l/_bp8OP1jeNKAY

22. &GP M) 616501861 Qailev FH(HMILIL] blFWeS) * SheoTg|
a*b = %b 61601 GUED TWIM|SSLILILL G| 616518, *&H(8) 6]6560)|LD

gLoeofl 2 M| Q(HHSTEV 61(LD 5|5

° Watch Video Solution

23. UetTeu(hld SN BHEHSHG SHMev-CmiLest HHsHev

—1
(penmen il LiwesTL(h§&) CrhILOMM)| SMeso1s: [i _2]

° Watch Video Solution

4. w#1 er6tTLIG| 6p60TMl6dT (PLILILG ELPEULD  6T6Dil6y,
(z—1)>+8=0 eT6tIm GLOGSTLML 65T ELOEVMAISET -,

1 — 2w, 1 — 2u° 61601&&ML_(H 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_sKDvN31LGx3Q
https://dl.doubtnut.com/l/_CU6vEd8DU8BX
https://dl.doubtnut.com/l/_qH9gZT2Oz0oI

25. 4° — 3(2°7?%) + 25 = 0 eTEILD FLOGHTLIML6DL [Hlemmey

ClFUILILD 160160185y | 6ILDLLIG] LLIETOTSHE0)6ITUILD STET0I5.

o Watch Video Solution

26. ondluneuemenwild 12z? — 4y® — 24z + 32y — 127 =0
6MLOWILD, (HeNlWD MM 6emWEs 6lGTen6ve] o6

Sh&HW6ED6U SHIT6T0IS.

o Watch Video Solution

27. 1+2j+3k ettt MHemev GleusLems  Gl&MesoIL
Lemefluflest  (NbLLI  LisTeflemnwl 7(% v 23+412:) — 38

6T60TM) &6ITES 6V SHT6TTIS.

| ° Watch Video Solution |


https://dl.doubtnut.com/l/_qH9gZT2Oz0oI
https://dl.doubtnut.com/l/_bLy6JStO3gWA
https://dl.doubtnut.com/l/_sMXTEy7etWMN
https://dl.doubtnut.com/l/_kpRHgS5rX9cP

28. 08U S. lim zlogz
+

z—0

o Watch Video Solution

29. UletTeu(pd FMIUSG), Glamb&HsULLL  LeTerigerilev
Crrflwev Ggmymw LS LI6DILI& 6501 5.

flz) = 2° — bz + 12,25 = 2

o Watch Video Solution

30. eUEDTUIN |58 618 M6 &S M6TT L1600TL| S>60) 61T

3
LWLETLB58) Log;um@a,./ o — 1|da
0

o Watch Video Solution



https://dl.doubtnut.com/l/_kpRHgS5rX9cP
https://dl.doubtnut.com/l/_1KXMM3HDBvkg
https://dl.doubtnut.com/l/_5or94NnJ69rR
https://dl.doubtnut.com/l/_xTQpmco8LZ1v

dy 2 2
31.Solve: T + 2y cot x = 3x“cosec’z.
x

o Watch Video Solution

32 =x +1 LMM|LD Z ot = — 616016V
. z X 7 ar R
(] mml g PR 1

22+ 132 4+ 3z — 3y + 2 = 0 6TeOTHBTL_ (B 5.

o Watch Video Solution

33. FLDGOTLIML_60)L_&) LTS

3zt — 162° + 2622 — 162 +3 =0

o Watch Video Solution

-1 1
34. 81155 tan_1<w—) —l—tan_l(w + ) =

T
T — 2 T + 2 4


https://dl.doubtnut.com/l/_Jp8qi2bOhWgc
https://dl.doubtnut.com/l/_LTTdneWrFbnd
https://dl.doubtnut.com/l/_NM0xDJIL78Jb
https://dl.doubtnut.com/l/_wIdaH15iQE78

o Watch Video Solution

35.1.2 LS IR6M(LPET6IT 8)lq. SG60T (LPEDI6TTSHET 6TLIELIMG)|LD bl
SIFGHENENE 6IHML(HE  6lFeuey(onm| HEIHEETMEGI.
Blguiledt x-s1&a (LpemeoTuled) (hrh&| 035 &Mysaev 2 efTer
@b L6Terfl P-65T MWLLILIME®S 6(H Heeul LD eT6ot

HM 1618, GLOGY|LD SHG60T 6MLDOWIS 6] HTEDIVEHGHHELD SHIT6T0TS.

O Watch Video Solution

36. Lieferll (4,24) eulblg 6lgeudlm LMMID  SeMi g6l
2r +5y+42+1=0 wmHMD 4z + Ty+ 62+ 2 = 05
C1&THI (55 G M6TT GEMGHSH 65T & |6016T0TUIEN(G) H6V6VME LDMHMILD

SMILeH W 6sT FLo6sTLM(H SHMT650TS.

° Watch Video Solution



https://dl.doubtnut.com/l/_wIdaH15iQE78
https://dl.doubtnut.com/l/_t1gY4dDw86Oj
https://dl.doubtnut.com/l/_CbJ0oRd9Wb8L

37. 6 ([h 615(& SHEMI6V 62 ([h HITEMENTE(S) (SHEDMIHG BT 6T5(F X
L6STED|D oMMILD 2 WG] 61 y L6STIenID 2 ML
Clelwd &mesT 6lamesoiLgl. Qi y=(41(:)_—_i';r>
(GHEOMHG I 61HB60T Fhemg ellemev 2 WG 6T8sl 60T
&hen g, edlemeuliley LIME) eTedTMITeV, &G LI6ToT 6UJemI6ULI
LMIUBMNS HONHS B 615G LHMID WIS 615
SHSFIWEUMMI6TT 2. 8HG 2 MUESSH6ET 616516516UME Q(H&HS

CeuesoT(HLb?

° Watch Video Solution

x

38. z(z,y) =ze! +ye “,x=e l,y=st’s,tcR er6015.
0z LLMM|LD 0z &I160015
gs PO 5y '

° Watch Video Solution



https://dl.doubtnut.com/l/_8LRm6kSO6eWp
https://dl.doubtnut.com/l/_du0VFF8yS9P9
https://dl.doubtnut.com/l/_q4q4wd767pIa

39. UJeuemETWLD 22

=y WMHMID euemereUen] y = |z|
SHFWeUMMMeV  SietvLLI(HLD  ARISHSSl60T  UFLUeDOLIS

SM160015.

° Watch Video Solution

40. Gleuliumlemey 25°C 9b& 266 6(H Siemmuiley
emeUSSLILIL (BeTer Hiflest GleuliLimlensy 100°C Sh(GLb. 10
mHLragerflev Hfletr GleuliLmeney 80° C Shdd (56MMHG|
el BG& Mg etevflev, i) 20 MLOL s Emha @ Lstteoty Hiflest
GleuliLimhlemey bleuliLImhlenev ii) 40°C Sh8 Q(H&(GLDELING]

11
QB ITLD &M6voTd. [log, (1—5> = — 0.3101, log, 5 = 1.6094]

° Watch Video Solution



https://dl.doubtnut.com/l/_q4q4wd767pIa
https://dl.doubtnut.com/l/_E4JPC96YEhAY

41. ®([H Hevllhlemev FeUMiLiL] MM 0, 1 WMHMILD 2

LD LIL|&H6m6M L (HGLW 6l &M6IT(ETHLD 616515.
z2+1 o
0 T —

i) k-@Q@e01 WL Qi) Gedley Lgeuev &L iii) P(Xgel)

SHEW6UMEIMS SHTETTIS.

° Watch Video Solution

42, GlLoUI6mILD SIL_L_ 6160650160 UL LwesTL (h §8)

(pVe V(pAg) MHMID —p 6160TM EnMHMIHET Gj&HS

GLOM6OTLOM6BT606Y 616018 CFME) 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_AmmVJkf0VMpg
https://dl.doubtnut.com/l/_Kz4IVgg36Hak

43, Prove by vector method that

sin(a + B) = sinacos 8 + cos asin .

° Watch Video Solution



https://dl.doubtnut.com/l/_jaOOyvd3qyQx

